

□ \forall $\epsilon > 0$ $\exists \delta > 0$ $\int_a^b f(x) dx = \int_a^b f(y) dy$
 $\int_a^b f(x) dx = \int_a^b f(y) dy$ $\Rightarrow \int_a^b f(x) dx - \int_a^b f(y) dy = 0$

$\int_a^b f(x) dx = \int_a^b f(y) dy$
 $\int_a^b f(x) dx - \int_a^b f(y) dy = 0$

$\int_a^b f(x) dx = \int_a^b f(y) dy$
 $\int_a^b f(x) dx - \int_a^b f(y) dy = 0$

$\int_a^b f(x) dx = \int_a^b f(y) dy$
 $\int_a^b f(x) dx - \int_a^b f(y) dy = 0$

$\int_a^b f(x) dx = \int_a^b f(y) dy$
 $\int_a^b f(x) dx - \int_a^b f(y) dy = 0$

$\int_a^b f(x) dx = \int_a^b f(y) dy$
 $\int_a^b f(x) dx - \int_a^b f(y) dy = 0$

$\int_a^b f(x) dx = \int_a^b f(y) dy$
 $\int_a^b f(x) dx - \int_a^b f(y) dy = 0$

$\int_a^b f(x) dx = \int_a^b f(y) dy$
 $\int_a^b f(x) dx - \int_a^b f(y) dy = 0$

$\int_a^b f(x) dx = \int_a^b f(y) dy$
 $\int_a^b f(x) dx - \int_a^b f(y) dy = 0$

Оценки J_2 . No $\forall \epsilon > 0$ $\exists \delta > 0$ $\int_a^b f(x) dx = \int_a^b f(y) dy$
 $\int_a^b f(x) dx = \int_a^b f(y) dy$

$\int_a^b f(x) dx = \int_a^b f(y) dy$
 $\int_a^b f(x) dx - \int_a^b f(y) dy = 0$

$\int_a^b f(x) dx = \int_a^b f(y) dy$
 $\int_a^b f(x) dx - \int_a^b f(y) dy = 0$

$\int_a^b f(x) dx = \int_a^b f(y) dy$
 $\int_a^b f(x) dx - \int_a^b f(y) dy = 0$

$\int_a^b f(x) dx = \int_a^b f(y) dy$
 $\int_a^b f(x) dx - \int_a^b f(y) dy = 0$

$\int_a^b f(x) dx = \int_a^b f(y) dy$
 $\int_a^b f(x) dx - \int_a^b f(y) dy = 0$

$\int_a^b f(x) dx = \int_a^b f(y) dy$
 $\int_a^b f(x) dx - \int_a^b f(y) dy = 0$

$\int_a^b f(x) dx = \int_a^b f(y) dy$
 $\int_a^b f(x) dx - \int_a^b f(y) dy = 0$

$\int_a^b f(x) dx = \int_a^b f(y) dy$
 $\int_a^b f(x) dx - \int_a^b f(y) dy = 0$